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Anthropology means
(A) Study of Plants  (B) Study of Animals (C) Study of Birds (D) Study of Man

Which space agency successfully launched the world’s smallest satellite carrying rocket ?
(A) CNSA (B) NASA (C) JAXA (D) ISRO

‘Prahaar’ 1s
(A) an aircraft carrier (B) a battle tank
(C) a submarine (D) a surface to surface missile

Carbon dating is

(A) Varve dating (B) Relative dating
(C) Chronometric dating (D) Geneological dating

Assertion (A) : The Aravallis are the relict mountain ranges lie to the north-west of the
Peninsular plateau.

Reasoning (R) : These mountains are deeply worndowrand eroded, running in a north-
east to south-west axis and forming discontinuous ridges between Delhi
and Gujarat.

Codes :

(A) (A) (Assertion) is correct and (R) (Reasohing) is the correct explaination for (A).

(B) (A) (Assertion) is correct but (R) (Reasoning) is not correct explaination for (A).

(C) Both (A) (Assertion) and (R) (Redsoning) are incorrect.

(D) (A) (Assertion) is not correct'but (R) (Reasoning) is correct explaination for (A).

Which one of the following is the highest peak of Satpura range ?
(A) Amarkantak (B) Dhupgarh (C) Bahmangarh (D) Pachmarhi

Assertion (A) : The Deccan trap is characterized by its horizontal basaltic lava sheet.

Reasoning (R) : The Deccan trap refers to the area which is covered by the basalt rock
layer formed from the fissure type volcanic activity.

Codes :

(A) (A) (Assertion) is not correct but (R) (Reasoning) is correct explaination for (A).

(B) (A) (Assertion) is correct but (R) (Reasoning) is not correct explaination for (A).

(C) Both (A) (Assertion) and (R) (Reasoning) are not correct,

(D) (A) (Assertion) is correct and (R) (Reasoning) is correct explaination for (A).
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(B) (A) (RopFs) 0, 98 (R) (8 8) (AR Z00InT SRR e .
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o878 (R) : TEeT RN, VIS HIOT TERE0D BROBUEENE SRYRASE,

WA, WO OO0 YR FNTHE JRTRR WIS
HodeZrieh :
(A) (A) (RO5Fa) %0 2, “Td (R) (398678) (A) 7 BD0ING ORI,
(B) (A) (%03 ) 70, 20 (R) (F0878) (A) 1f XOCING 308 &5y .
(C) (A) (A0pr ) 203y (R) (308F8) 20RO 9y .
(D) (A) (Rrs) 20, T8 (R) (2878) (A) 1§ IOOINE HFOH.
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In India the term Public Key Infrastructure is used in the context of
(A) Healthcare and Education Infrastructure

(B) Digital Security Infrastructure

(C) Telecommunication and Transportation Infrastructure

(D) Food Security Infrastructure

9. A lemon kept in water in a glass tumbler appears to be larger than its actual size. It is
because of
(A) refraction of light (B) reflection of light (C) polarization of light (D) scattering of light
10. The position of how many digits in the number 53 2 6 9 7 1 8 will remain unchanged, if the
digits within the number are rearranged in ascending order ?
(A) Two (B) None (C) Three (D) One
11.  The specific position of gene on a chromosome is called
(A) Locus (B) Codon (C) Cistron (D) Allele
12. Invention of Bow and Arrow is attributed to’
(A) Mesolithic age (B) Neolithic age
(C) Upper Paleolithic age (D) Middle Paleolithic age
13. Mac operating system is developed by which company ?
(A) Microsoft (B) IBM
(C) Samsung (D) Apple
14. Paleolithic primary site from India is best represented at
(A) Navadatolia (B) Bhimbetka (C) Attirapakkam (D) Inamgaon
15. Silent trade is practiced among
(A) Toda of Nilgirs (B) Bushman of Kalahari
(C) Chukchese of Siberia (D) Luo of Western Kenya
Space For Rough Work
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11.

12.

13.

14,

15.
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16. Which of the following historians said that it was a ‘crisis of personality’ that was
responsible for the decline of the Mughal empire ? _
(A) Jadunath Sarkar (B) Bipan Chandra  (C) T.G.P. Spear (D) Irfan Habib
17.  Who established the brotherhood of Khalsa among the Sikhs and transformed them into a
military organization ? ‘
(A) Guru Hargobind (B) Guru Arjun DeY
(C) Guru Nanak (D) Guru Gobind Singh
18.  Whom did the French, under Dupleix defeat at St. Thome in 1746 7 .
(A) Haider Ali of Mysore (B) The Nawab of Carnatic
(C) Balaji Baji Rao of the Marathas (D) The Nizam of Hyderabad
19. When did the British East India Company get the Diwani rights (revenue collecting rights)
for Bengal, Bihar and Orissa ?
(A) 1767 (B) 1764 (C) 1769 (D) 1765
20.  Which of the following British scholars was responsible forshe establishment of the Asiatic
Society of Bengal in 1784 ?
(A) Wilham Jones (B) Nathaniel Halhed (C) Mi r1 (D) Wilkins
2. ACB:GIH:::KML:? .
(A) RST ' (B) TRS /é*RTU (D) RTS
22. In the following question, a number @gis given. In this series, only one number is
wrong. Find out the wrong number®, l
87,54,28,13.5,2,2 , \
(A) 28 (B) i (C) 2 (D) 54
23. A man with type “A” blood ies a woman with type “AB” blood. What are the different
blood types their children could have ?
(A) Aand B (B) A only (C) A,Band AB (D) AB only
24. Vitamin required for calcium absorption is
(A) Vitamin D (B) Vitamin C (C) Vitamin K (D) Vitamin B
25. Indus Valley Civilization can be included under
(A) Megalithic culture (B) Neolithic culture
(C) Mesolithic culture (D) Chalcolithic culture
Space For Rough Work
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16, BRP WRR,T B3 00, 33,8303 WELLD 0T FYNT 03N BITHATITD TevwnT ?
(A) T IFF0* (B) wzx* wWos (C) 8.23.. pobof (D) agprs® Tews*
17. 20TQ, T FBATTI[IY TOLATRWL 0B [0 D0OLD FopPuSmn TOTSFATIL
o3RI ?
(A) O BT RReWOT* (B) roth esede s et
(C) N T (D) rooH frewos® vore
18. 1746 B, Yo Foed'3Y @), Fe* 3 RO Fors* 03nTa) Reedas ?
(A) ORI FTod (B) BooFess Saow
(C) TTET W WoeToR® (D) B@oownbs Qs
19, WeleT S woBcdn soTrt cdnesert B BB, (BTN FOR&RIT THYW), Worey, BET
SO LOTRMON TRTOWID ?
(A) 1767 (B) 1764 (C) 1769 (D) 1765
20.  =439NT cIRT WeSeT DWIORTY, 1784 T worweds DT RE0D FTIR BTN ? ,
(A) dysF ﬁmea: (B) Smedode® méeiw' ©) o (D) ;)Qas:
21. ACB:GIH::KML:? (/
(A) RST (B) TRS (g:) RTU (D) RTS
22. & 39NT TFoDY, 10w ﬁomﬁgemm@mnd. 83 FerdodQ, Femw 2,080 Bo, IS
FTNTOS Foad, oy rHTHELD. AQRT. (DM
87,54,28,13,5,2,2 R
(A) 28 (B) 87\, ©) 2 (D) 54
23. “A” O¢ zmoon AB” TF @50 S0PohRy Sirbdcdnrivems. eNe g
BROTWEITRT LG T8 IO ol ?
(A) A 3B (B) A =ng (C) AL B AB (D) AB mtng
24, w9030 LeToRS T1Z, T BT
(A) QoD (B) tawaC (C) drwTFK (D) L0 B
25. 0G0 ¥eds TNOCTEODT, BRODY XeORWBIT).
(A) %Ea‘ &0 :30503 (B) S=dwoodond ",-Sc?q‘”é
(C) &5 semodons xox, @ (D) SowRodond o,
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26.

In the following question, select the odd number from the given alternatives.

(A) 1331 (B) 1000 (C) 441 (D) 125
27.  Choose the Venn diagram which best illustrates the three given classes in the following
section :
Languages, Sindhi, Dogri
28. Three of the following four word pairs are alike in a certain way and one is different. Pick
the odd word out.
(A) Andaman & Nicobar Islands : Port Blair (B) Ladakh : Srinagar
(C) Daman and Diu : Daman (D) Lakshadweep : Kavaritti
29. Ifitis Friday on April 14, 2023, then April 14, 2024 would have been
(A) Sunday (B) Saturday (C) Friday (D) Monday
30. In the following example, choose the figure which is different from other.
(A) v (B) a ©) % (D) 8
31.  Arrange the following Governor — Generals of India in terms of their succession :
1.  Warren Hastings
2. Cornwallis
3. William Bentinck
4. Wellesley
(A) 1,4,3,2 (B) h2,3,4 () 2,1.3,4 (D) 1,2,4,3
32. Identify the leaders who brought about the famous Santhal uprising in the Rajmahal hills in
1855.
(A) Trimbakji and Sewram
(B) Gomdhar Konwar and Purander Singh Narendra
(C) Chittur Singh and Dattatraya Petkar
(D) Sidhu and Kanhu Murmu
33. Who described the 1857 uprisings as a ‘national rising’ ?
(A) Benjamin Disraeli (B) T.R. Holms (C) R.C. Majumdar (D) L.E.R. Rees
Space For Rough Work
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26.

3.

28.

29.

30.

32.

33.

31.

& F9rf QedORT BodNYEY, oot Feode LT TN oI eI, MITOSAD.
(A) 1331 (B) 1000 (C) 441 (D) 125

88 81§ QBT TwoTH IRFNERY, XATTN TV FF 1333 THIX0.
RN, 209, Fd

(A) (B) (©) (D) @O

& I BT Tow), TN Ree@ndd), @t Eeelnw clnrine o 0e2chE
DBCRTENGS OB 20T WFTONG. QW TONTOTITEI), TOTHEA0.

(A) OB O VBT O eIneh — Fpee's veo®

(B) OB - deInT

(C) TR0 L) DO - T

(D) ©BQ$T - [0S

2050 e DRS* 14, 2023 BFTOTTNGT, DR 14, 2024, 0I5 OITNHIT ?
(A) yROTT (B) 3220 (C) 30 (D) ZRezTT

8 $YNT LVRBOBODNG, AW TNV WD, NITOSRD.
(A) v (B) o ©x (D) 8

NS GROZE NRSFO° WROSRYRY, S8 FTIRTOR QRoDHE, F0emN WD,

I SO Feaort 2. WEIIF 3. oo Wordor®t 4. [y
(A) 1,4,3,2 (B) 1n2,8, 4 © 2,1,3,4 D) 1,2,4,3
1855 06, oomsEe* tIBRIE e Fogoor Gorfod HORBTONTRY, ToTOA.

(A) 3008 23 02 Koo

(B) riraew% of ge0* 03 FPYTOTT* HorY Sdeor

(C) 232R0° Hor* 020 TZgecdd a?easdo‘

(D) A% &3 ) 0

1857 o moriodos), cxrud Tody £0D ort (T,TISF GrO7Y) 0T DFOITI ?
(A) Pozmaes* @Fed (B) L.uct. @ (C) &0°. 2. 3RRRT* (D) 9. A.80". oex*
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34.

3.

38.

39.

40.

41.

42.

43.

What comes in place of question mark in the following letter series ?
CE,FH,IK, LN, ? -
(A) OQ (B) PR (C) SU (D) QS

If East is replaced by South-East, then West will be replaced by which of the following
directions ?
(A) North-West (B) North-East (C) West (D) North

Who was called Navakotinarayana in the period of early Wodeyars of Mysore ?
(A) Chikkadevaraja Wodeyar (B) Raja Wodeyar
(C) Chamaraja Wodeyar (D) Doddadevaraja Wodeyar

Who was the heroic woman in Keladi dynasty ?
(A) Mallammaji (B) Onake Obavva  (C) Channammaji (D) Veerammaji

The first Kannada Inscription is :

(A) Halmidi Inscription (B) Belur Insgription

(C) Maski Inscription (D) Ihole @b\ion

Who was considered as Martin Luther of Karnatakaﬁ 0

(A) Madvacharya (B) Kanakadasa © veshwara (D) Purandaradasa

The chief diety of Vijayanagar Empire w
(A) Sri Narasimha (B) Sri Mallika 6 (C) Sri Lakshmi (D) Sri Virupaksha

A fruit vendor has 171 mangoes. %ﬂd of them. How many mangoes had he left with ?

(A) 17 EY? (C) 20 D) 19
Find the missing number from the given alternatives :
14 | 10 10 42 | 14
12 26 ?
(A) 16 (B) 8 ) 32 (D) 28

When the minute hand of a clock covers a distance of 1 hour 30 minutes, what is the angular
distance covered by it ?
(A) 480° (B) 540° (C) 450° (D) 420°

C1
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34, ;IS Qﬁi oneg mdm@mg@{ F 8 wag‘l evs) k‘%ﬁﬁ@muwa tﬂi dﬁﬁ"'@q noto320.,
CE, FH, IK, LN, ?
(A) OQ (B) PR (C) SU (D) QS
35, 2,000 Fe¥ e ALY fj‘rif&'b O3N0T WHLDOWATT, B 083, = NS on
asezoccs VoK s3I ?
(A) TR0, (B) 85208, (C) T (D) ev3c
36. RO BTORE WD HOTE, OSRTR), IIEAELS TOTICIED 20T BTGNS ?
(A) ¥8Tesoon wiodot (B) oow wi@odot
(C) =DTo% wEoof (D) cﬁm%cieﬁow WBOT*
37.  #90 DORTOBTOR Q6T &Y 03T 2
(A) DogsRes (B) 236 Lo, (C) u3mRe (D) &edsine
38. ﬁai BT T ToRI 0IRYNS 9
(A) 98 73 (B) deontb moxz  (C) @wr TR (D) 22 =3
39.  STFLREE TRLFET QRFT’ 20T CXRTRY RothexeNd ?
(A) SoTREmebdF (B) 338m0% (C)\wsess (D) PYoomomx
40.  Qe00RENT WEPE,T o), Fews/ eI CIRTNTEO ?
(A) &cIoROS (B) &e0@mmoes  (C) ¢ 08, (D) &¢ Hdewmes,
41, Ly TR TN 0K W11 TRST B, eIWY, s § oxmy
TROTL. ST we B3 I, BERNW VO ?
(A) 17 B) 18 (C) 20 (D) 19
42, BN VBT esod%ﬁ@oci ForB 0N 05, O, ROTLSRD.
(14 [10] [10]42]
[ 12 ] [26 ]
(A) 16 (B) 8 (C) 32 (D) 28
43. odnwen ARCNTE WRT WO, 1 notd 30 davwny CRUSRY, FRoRdITadee un B
BLATS BreReod s wT), ?
(A) 480° (B) 540° (C) 450° (D) 420°
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44.

The best method of managing household kitchen waste s

(A) Open burning (B) Incineration

(C) Composting (D) Dumping in a landfill

45. The wastes generated due to the disposal of household appliances, computers and mobile
phones are collectively called
(A) Organic wastes (B) e-wastes
(C) Non-recyclable wastes (D) Consumer wastes
46. To capture the extent of digitisation of payments across India, RBI introduced Digital
Payment Index in which year ?
(A) 2020 (B) 2021 (C) 2022 (D) 2018
47. Which is/are the tax/taxes levied and collected by the centre but distributed between the
centre and the states ?
(1) Income tax
(1) Land revenue
(iii) Stamp duties
(iv) Corporation tax
(A) (i) only (B) All of these
(C) (iv) only (D) None of these
48. Consumption of ground water contaminated with nitrates leads to
(A) Blue-baby syndrome - (B) Itai — Itai disease
(C) Fluorosis (D) Necrosis
49. Gases like Carbon dioxide that play a role in global warming are called
(A) Ozone depleting substances (B) Thermal emitters
(C) Noble gases (D) Green house gases
§0. The nuclear accident that was triggered by an earthquake/tsunami occurred in
(A) Bhopal (B) Chernobyl (C) Plymouth (D) Fukushima
Space For Rough Work
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44,

46.

47.

48.

49.

50.

OO LT 32, 23, TR, A SO LA, Fe FoeniF sy
(A) 30T ZoROXF (B) 33800
(C) Qg fews (D) TBeoBEd, Browmagtd

A Zeexicdpen SNLD, SO RO R03) Ferfer Py LSETOIOTIN FUBIOTRTIT
30, TR, 2N 050 30RO,

(A) ToT0I ;ra.ﬂ_msmt (B) a-29,%,
(C) ROTOWEE TNTBOINT T, &, MO (D) moms 39,2, 7%d

WRUSDOR, 08 TomENY RuWOTORT mdéocb B0 WWeded SPODR BT WK CINT WHF
QUL TWE A, 0TI TOWOWRBD ?
(A) 2020 (B) 2021 (C) 2022 (D) 2018

2 S9NS cIRR FortenRy /BONNYRY Feom REFT VWS I TofRIB. 9 ¢
Feaay Fe0g SBY To, T ST, TOWFOIRMITS ?

(i) emocb Jort (i) 23R, BOTIOOD

(1ii) 9, 0%* BR L (0TR08 300) (iv) B0z 3ok

(A) (i) =R (B) @S5 (©) (iv) 3= (D) S, TR B,
§EeFnvon Seoasieod LI0B%F O BeBIOX0 7} Fo0tanO3T.

(A) wR-dew acrpess (B) ot — aef Seert

(C) ghrireax® (D) 0380 T (FEpeaT)

WNEE TDTTNRTEY, WF RERT QoOT Bt BHOIT  SAUNTR) QOTL
Lsievelonly e Ta :
(A) bBoRes* Hesee S3ROMD (B) oo BpoRR BN

(C) wrwg wdonsh (D) B0 &S sonsd

ARB0T [ ROToLO0U0T HUOLITS TORED LITeFoBwy) T& BOLI0ARD.

(A) yneceRe® (B) #3nerwes (C) & e (D) Psodaxn
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Which of the following Indian missile is surface to surface missile ?

51. , ;
(A) Aakash (B) Naag (C) Prithvi (D) Trishul
52. Internal Security Academy is located at
(A) Hyderabad (B) Nashik (C) Pune (D) Mount Abu
53.  Which one of the following is the best description of ‘INS Astradharini’ ?
(A) Torpedo launch and recovery vessel WA
(B) Amphibious warfare ship Qm (0
(C) Nuclear launched aircraft carrier %\—\\\‘\9‘
(D) Nuclear powered submarine
54. India has developed Barak-8 Missile with the co-operation of which of the following
country ? -
(A) Israel (B) Russia (C) France (D) USA
55. ISRO was established in which year ?
(A) 15™ August 1972 (B) 15" August,]949
(C) 15™ August 1973 (D) 15 August 1969
56. Which of the following is wrongly matched ?
Book Author
(A) The Poverty of Philosophy — Amartya Sen
(B) Theories of Surplus Value — Karl Marx
(C) Wealth of Nations — Adam Smith
(D) The General Theory of Employment, Interest and Money - J.M. Keynes
57. National Statistical Ofﬁg&-(ﬁ&d} has been formed in 2019 by the merger of which of the
following organizations ? |
(A) Indian Statistical Assocfation and National Sample Survey Office
(B) Indian Statistical Institute & Central Statistics Office
(C) None of these
(D) National Sample Survey Office & Central Statistics Office
58. Who is the last Vice Chairman of Planning Commission of India which was abolished in
20147
(A) Manmohan Singh (B) K. C. Pant
(C) Montek Singh Ahluwalia (D) C. Rangarajan
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NS AR T80 :}:w“i‘éoiw draooon gleaort @A (surface to surface) iawmhd ?

51.
(A) €55 (B) o (C) ZB, (D) $3ne*
52. 50308 YEI0 LETE S93.
(A) FTooeRT (B) Toas (C) e (D) s3083* e920
53, FSNIYNEY, cIRPRO ‘R I G o0ed" o €530, Fad L)a3TrodBRNG ?
(A) 2T VIR D) ¥e308 TR (B) wuyiedndo o3on man
(C) TOTRED WEINE ITNTBT I0F (D) BOBRED BEOL BEDOBTWF U
54, TSP S8 FIAT oo FeBT FBFITER0ON WTF-8 83 TESODTY @e;s&e)c%) TRAT 7
(A) aZeer (B) o (C) (D) o30.2% ..
55. =Xpe cmen m%ﬁa’omowm ?
(A) 153¢ wi’:a'; 1972 (B) 153¢ em; 1949 (C) 153 eﬁﬁﬁ 1973 (D) 15&¢ Br‘i@ 1969
56. % SNFIINTY, CINTRED BTN BRTRHEIRNG ? @
i .. ;
(A) O TORLF ST HUIRY (/ — R A
(B) PODOETF &7 ROHF' 2,0 &s - DU INTF
(C) B T IR, - YRORF
(D) & BT PO BT aommo:b“dm)bgo&aﬁn; o TR~ H.00. T
57. 23 SUNT OURT QT ROFND ﬁ@é&ﬁocﬁo 2019 T WRIC* W LRFS* ST (NSO)
m%&;smcwa: ?
(A) B0BRODT T ugw&hﬁ@emﬁeaﬁa‘ 0B T,T/SF 9, 0TWO* Fefer YQex
(B) 20N 7o LRSS 98 LR, @) FoRe* ) BRE° CEN g
(C) owmRuie g,
(D) &, RIS 7w, oW Haler e 303 WORS' M) LA SEx*
58. 2014 09 oryrtevAe: oodn cdnermy Godrent #RJen eVIRg 800 xR ?
(A) SOTSReTTE KoM (B) 8.4, ZoF®
(C) Rroudr® aor' s@mywedodn (D) &. Tonooma®
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89,

Who launched Central Rural Sanitation Programme during the year 1986 ? |
(A) Deve Gowda (B) Narendra Modi  (C) A.B. Vajpayee (D) Rajiv Gandhi

60. NABARD Head Office is located at -
(A) Calcutta (B) Mumbai (C) Bangalore (D) Delhi |
61. ‘Electoral College’ consisting of
(A) Elected members of Vidhana Sabha and Vidhana Parishad
(B) Elected members of Lok Sabha and Rajya Sabha
(C) The members of Parliament
(D) Elected members of Lok Sabha, Rajya Sabha and State Legislative Assemblies
62. The term ‘Socialist’ was inserted in the Preamble by
(A) the Constitution 2™ Amendment Act.
(B) the Constitution 42" Amendment Act.
(C) the Constitution 86™ Amendment Act.
(D) the Constitution 24™ Amendment Act.
63. The Rajya Sabha has no power to amend, modify.or reject
(A) a constitutional amendment bill
(B) any bill passed by the Lok Sabha
(C) a money bill passed by the Lok.Sabha
(D) a general bill passed by the Lok Sabha
64. Which model was recommended by Ashok Mehta Committee for Panchayat Raj System ?
(A) Three-tier (B) One-tier (C) Four-tier (D) Two-tier
65. Who is considered as the Architect of Panchayati Raj in India ?
(A) B.R. Mehta (B) Acharya Narendra Dev
(C) L.M. Singhni (D) G.VK. Rao
66. Swarnjayanti Gram Swarozgar Yojana, a holistic programme for promoting self-
employment of rural poor was started in the year
(A) 2000 (B) 1999 (C) 2001 (D) 1995
Space For Rough Work
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59. 1986 0 Beol MRaverd Fmore) F0RF FER) TRTORATHT 03T ?

(A) Bederea (B) S0eom Foed (C) .. swZecd (D) Te Mok
60. ew's (NABARD) & $eom 8ededoso 09T

(A) 8% (B) &00wow (C) Borsndd (D) Bz
61. ‘R0 modees” o, wetRoRT.

(A) TS Ko OB TN TWORST PBOTOOWE AT, TO.

(B) &res X 0 ooy, Tefodd wdToolod RT3, 0O

(C) RoRES XTE, .

(D) €roed 3ed, Do, X 53080 Do ReIed 230008 RTHTO.
62. ‘ISRETO’ (RRLBODOR) THEII, TOSBODY, ST BTN,

(A) RoQTORT 2 TTA FOWT. (B) RoDoRT 423 SBITR TONT.

(C) oGRS 863 STIR TOWT. (D) RodGosa24Te STOTR FCWT.
63. STHOTE TNTLD, FRTFBRLO BT STFORLO 0o, TR IRTSe ©HTTR),

(A) 200 TOIGOE STOTE@ TORRT (B) cnes Kif 2oNegoRT cInTTe AT

(C) Sres X SONCBOAT BEoT TORAT (D) Sroeg Ry 90NLBOAT TOTRT, FORRT
64. EREE T TS0 TorHoIT m%dﬁ;ﬁ O3RE TRTWOORR), ST WA ?

(A) Soweod-Zersd (B) w.0m>-8erd (C) owa-Zesd (D) «Tw>-Jers
65. tPUIEY TorsodoF TSt I IHOD TRBY, Q0T 03RTY, TORESILINT ?

(A) w.60%. DT (B) eemods Ideog Bew'

(C) avf.ox. vohy (D) 22.2.8. oon*
66. Rporwmodod TR XPeeRD CdReEIOND WORD TR WEST D0 SOTR, NS

euees ROz AT o030 BT RRFTE TRTOWRTD RO

(A) 2000 (B) 1999 (C) 2001 (D) 1995
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67. The scientists of which country have developed “Pibot”, a humanoid robot that can fly
aireraft and understand complex flight manuals ?
(A) South Korea (B) USA
(C) Israel (D) UK
68.  Name the lunar exploration spacecraft of Japan’s Aerospace Exploration Agency (JAXA).
(A) Moon Explorer (B) Moon Investigator
(C) Moon Sniper (D) Moon Lander
69.  If a motion seeking the removal of the judge introduced by Lok Sabha
(A) It should be signed by not less than 100 members
(B) It should be signed by not less than 75 members
(C) It should be signed by not less than 50% members of Lok Sabha
(D) It should be signed by not less than 200 members
70.  Which of the following teams has clinched Durand/Cup - 2023 ?
(A) Bengaluru FC
(B) Mohan Bagan
(C) NorthEast United
(D) Nirjuli United
71. 73" Amendment Act provides
(A) two-tier panchayati system
(B) four-tier panchayati system
(C) multi-tier panchayati system
(D) three-tier panchayati system
72.  The first hour of every sitting in both the houses of parliament is called
(A) call attention motion (B) zero hour
(C) question hour (D) discuss hour
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67.

68.

69.

3R De3T QpRnsd ‘Fedeeez' (Pibot) w0ov) LIPHEHITY LOEBE, ) $TF0 SUBITER
09, &0, 0T TR T INRERYY, TR, TOFE Uneiew vm) ATTRANRT 7
L L ] o o, Fa] -

(A) m8go &R (B) 0300%%

(C) aZeef (D) o8

BN DTREK X SF TR TR e (JAXA) T 303 eosfemim 0303 FPHos) ZHOL0.
(A) T IFFRETT*
(B) S0x* an'Syfewsot
(C) X3 T

ae
(D) s &9, 0BT

oM
Q,m\c.ﬂ?—m £

SREERLICIO TOOBAT 2, CIROEIT B, S §oe0T HRRBYr

(A) 100 8§03 $BHBOLT AT, Reo IR,

(B) 75 403 3RSH00QR AB, B AREIR. @
(C) Besm 50 808 s@sheionp Sreireion JER,D A E;@‘m.
(D) 200 803 3BT KR, Bo TBIR. X_s

2 FUNT cIn Bowsy 2023 Fe T B0 é@a‘% ZOWATS ?

70.
(A) Wengrtd OFR N\ 1 (B) @ s’
(C) mewtres otoREie’ \Q\ (D) REord coeies
. 733 SmHma owd C@%mgﬂ.
(A) TR BeIT ToLzeIT* :@% (B) moe) ®odd balelkplovec aﬁsa:iru;
(C) W& BT ToeFoT* adgasﬁ‘;; (D) Sonth BoIrs ToeFoT* 335337%
72, oRss wurtod ANV, TR0t BHTEIIT SRTY FeWod) 20t F3DRESE.
(A) risom Zewdod 8 (B) #og, Jed
(C) Q!a e (D) w3dr e
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73.  Who has been appointed as the first woman chairperson of Railway Board of Indjan
Railways ?
(A) Jayaverma Sinha (B) Meenaxi Lekhi
(C) Shobha Karandlaje (D) Annapoorna Devi
74, One-third members of Rajya Sabha retire after every
(A) Two years (B) Six years (C) Five years (D) Four years
75.  The freedoms guaranteed by Article 19 are automatically suspended when the proclamation
of emergency is made by the President under Article
(A) 352 (B) 356 (C) 370 (D) 360
76.  Which of the following pair is wrongly matched with respect to US Open 2023 ?
Event Winner
(A)  Mixed Doubles =  Anna Danilina & Hatri Heliovaara
(B) Men’s Singles —  Novak Djokovic
(©)  Men’s Doubles ~ Rajiv Ram and Joe Salisbury
(D) Women’s Singles — Aryna Sabalenka
77.  Which of the following ﬁl.;ﬁlms bagged Nargis Dutt Award for Best feature film on
National Integration duﬂqg 69" National Film Awards Ceremony ?
(A) The Rise — Part] (B) The Kashmir Files
(C) Sardar Udham (D) RRR
78.  Name the author of the book “Common Yet Uncommon : 14 Memorable Stories from Daily
Life”.
(A) Sudha Murthy (B) Sanjeev Sanyal
(C) Shashi Tharoor (D) Aravind Adiga
Space For Rougﬁ\}tﬂ B
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73. 080 oD g SooreaD THed Skwd 05} §odnn cRTR) Feawmenndd ?
fond LY o
(A) BODTTRF AT, (B) &oemns Jed
(C) Zweeye sToTRd (D) es3apeas Ties
74, T8 J03T, muﬁxﬁocb BRTFe .00 NG RT3 T0 23,3 BHOTTT.
(A) QTR SHFAL (B) &0 IRWensh (C) 0m JHFNEL (D) U, WRFMY
75,  SWFEeY(Sed) S R, wgdth dF TORIH DRCRHBODT, =nATRA,
@erEet 19 T 08 an30TRROT MBo3, &) CARedseson SRRTINRYATTZL.
(A) 352 (B) 356 (C) 370 (D) 360
76. CIVF L2023 %ﬁcwo@mdosée FENS 030 e@OT BTN FBROBTOINNT ?
SsaSoes At lot)
(A) OB B - e wm00m BF) B SO0
(B) RDTOXRT &ori@: - DT RRRERANT
(C) TOXT B ~ oo o SR eRt OO
(D) @&YoDT oM, -  COx X308
77. 69 e Togecd BT TIR TES FABBOPEEY, 0dne BRI Tog oD VEIMN SNeFT
mSef ZIRCTY, YA ?
(A) O Gz - otsF 1 (B) & TReT* F*
(C) =ooert svgiess* (D) sofsTsT®
78,  “Bomha oy STEORN : 14 Sodeduer B edex go dO Ja™ §800 8¢ o3RT ?
(A) =0 DREF (B) mozdea® xivo,
(C) 35 zorTt (D) estoon® van
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9.

80.

81.

82.

83.

84.

Which of the following South Asian country is set to be removed from United Nations list
of Least Developed Countries on December 13, 2023 ?

(A) Myanmar (B) Bangladesh (C) Nepal (D) Bhutan

Name the first ever woman astronaut from Saudi Arabia who was sent to International
Space Station,

(A) Rayyanah Barnawi (B) Meet Anousheh Ansari
(C) None of these (D) Rim Al Turkmani

Name the operation initiated by the Government of India to aid Syria and Turkey which
were hit by earthquake in February 2023,

(A) Operation Rahat (B) Operation Lehar
(C) Operation Dost (D) Operation Sadbhavana

Which of the following Indian athlete created history by becoming World Number 1 in
men’s javelin rankings ?

(A) Navdeep Singh (B),.Neeraj Chopra
(C) Davinder Singh Kang - (D)Shivapal Singh

The Union Housing and Urban Affaits, Miinistry has extended the deadline of its Smart
Cities missions to

(A) December 2024 (B) June 2023 (C) June 2024 (D) December 2023

NPCDCS is the national_laVBlﬁealth program launched by Government of India in 2010. It
was aimed to control.and prévent which of the following diseases ?

(i) Cancer

(ii) Diabetes

(iii) Cardiovascular diseases

(iv) Diarrhoea

(v) Common Cold

(vi) Stroke

(A) (iv), (v) and (vi) (B) (1), (i1), (i) and (vi)
(C) All of these (D) (1v) and (v)

C1
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79. & FONS T DI T QAR Do, AFOWO* 13, 2023 Tomd wBZeROD B R0
BRODT THFNE T3 0T éﬁmw\ﬁw QTFORTDING ?
(A) R, T@RT* (B) twome (C) Jezmowt (D) ez
80. LOTTIACD WRTR,FTI FoFE IAT PO TeWING FIFD V> MNFoIRLCD
BRTED ?
(A) TOIR, T WIFR (B) &0¢e* P38 B0
(C) SRR 8y, (D) O &eF BT FERR
81. W0 2023 UQ WRTOTE 20T A00R SR 387 I¢ SN 008 TFF Ty TRTORAT
FoCIRFEORO0 BRIV 7
(A) STOES* oomS* (B) swdeRa® JT0°
(C) eT0RT Brex’ (D) e5TeRT* X o0
82. YTORT oFOT T3, 080MTHY, 08 HowTk | MWTH) YOOI [IRWT 08T 84 TN
OTRT SR VETIRII), AOF AT ?
(A) SRDeTF JoNe /(a zs‘ edreeR
(C) TREOTITF ROTF TROTY { SR 20T
3. deog IO e WS BT E{mn@ 35 FRUFF M8 ORQR Aoy on
c'.)»a@-utj
(A) BXowos 2024 (B)%zm (C) T 2024 (D) &=owo® 2023
84. NPCDCS %53 2010 UF) 47008 gor Uy 3o0m 305 c:aagai LT der, FOODFFROTONG,,
T 81 SN 0InEs Brersa AODOFRE FF) 3ERUIFR IHIOODR) BRoDT ?
(i) w30 (i) BWOXLVEI* (iii) 3, T03 Borod FooLEL
(iv) es8x0 (v) In@ (vi) mﬁﬂrmm
(A) (iv), (v) 303 (vi) (B) (i), (i), (iii) 3023 (vi)
(C) =@ (D) (iv) 302 (v)
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85.

86.

87.

88.

89.

Consider the following International years observed by United Nations :
(1) 2022 — International Year of Chemistry

(11) 2023 — International Year of Pulses

Which of the above statement/statements is/are correct ?

(A) Both (i) and (i1) (B) (i) only

(C) Neither (i) nor (ii) (D) (ii) only

Match the following :

a. Archimedes 1. X-rays

b. W.K.Roentgen 2. Law of Inertia

c. Galileo Galilei 3. Ultra Short Radiowaves

d. J.C.Bose 4. Principle of Buoyancy
a b ¢ d

A3 2 1 4

B)1 2 3 4

)4 3 2 1

D4 1 2 3

On April 14, 2023 European Space Agency. launched JUICE spacecraft. Expand JUICE.
(A) Jupiter Io Mimas Explorer

(B) Jupiter Io Miranda Explorety

(C) Jupiter Inner Moons Explorer

(D) Jupiter Icy Moons Exploret

The India — Bangladesh Friendship Pipeline (IBFPL) runs between which of the following
two places ?

(A) Agartala, India and Rajshahi, Bangladesh

(B) Siliguri, India and Parbatipur, Bangladesh

(C) Shillong, India and Khulna, Bangladesh

(D) Kolkata, India and Dhaka, Bangladesh

On Januﬁry 1, 2023 which country became the 20" country to join the erozone ?
(A) Latvia (B) Cyprus (C) Croatia (D) Slovenia

C1
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.

8S.

86.

87.

88.

89.

QBFOFOID TOTOSATOE B8 FENT 9080008y 003 BHFMFY, NIOVRD.
(i) 2022 - 03T £000 TR ToRT SR

(ii) 2023 — €00 O eIes TSN SRE

FHedR BeoBnFQ adnm Bewd/ nsh FOoIPNT /S ?

(A) (i) OB (i), OB (B) (i) =03

() (i) SOB (if), OB O, (D) (ii) =73

FINIINIRY TRCON.

a. &0l . o8 Be

b. @y ¥ decdoyst 2. =mEIW QO

ail2lev o (I]J) 3. R T Se@cdne 3oonnsd
3.8, doext BeoDBod 3,

o
>

8 b ¢ 4
(A3 2 1 4
)1 2 3 4
&4 3 2 1

D)4 1 2 3

DQCF 14, 2023 TOTD 030TREROD m@gawwbﬁcpam JUICE »0%) BROT 0,503
EIRY, LuEEEE SRED. JUICE &) JFOR0.

(A) BT 800 SR aafﬁp;;{c@ (B) 23,Q830° 2t Q0DOTED cDELEi@Qt’UU‘

(C) 2,2830° BF0° TR, gs:ﬁggﬁg‘ (D) %2,E30° 2R R DT TRETO*

o0s — womries ¢ GFYR (IBFPL) o 8 39S odns oord Igne <06
SYRRITONT ?

(A) ©ngreD, 708 S0 Tk, LTI

(B) 2OR00, 47003 o3 TOWF EYT, LIVOTY o3e3

(C) demprt, ovg T0%) 03, 2IO0NRLIES

(D) gpYZe,, LU T Go%o, RonYTied

=IO 1, 2023 TorH o33 oawu@ oiaodraeﬁoodoﬁd edrs 20 Je m%moma: ?

(A) ooL30dR (B) F5=* (C) BRO%ENTTM (D) RRPecdn
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90.

91.

92.

93.

A car travelling at 20 km/h. speeds upto 60 km/h. in 6s. The acceleration will be

(A) 1.58 m/s? (B) 1.85 m/s’ (C) 2.85 m/s? (D) 1.00 m/s?

Which of the following is one-Dimensional 2
(A) Motion of wheels of moving trains (B) Landing of an aircraft

(€) Train turning on straight track (D) Earth revolving around sun

If two conducting spears are separately charged & then brought together in contact :
(A) Both total energy & total charge are conserved.

(B) The total energy of both spears is conserved.

(C) The final potential is always mean of original potential of two spears.

(D) The total charge on both spears is conserved.

Match the following : é\
a. M.N. Saha 1. Structure & Evolutio@ ars

S.N. Bose 2. Thermal Isolation

b
¢. C.V.Raman 3. Inelastic Scat(iggof Light by Molecules
d. S.Chandrasekhar 4. Quantum 9@4105

a b ¢ d
(A)1 2 3 4 ‘\k‘/'b
@)1 4 2 3 \
€)2 4 3 1| \Q
M2 1 4 3 %

Name the technology working on scientific principle of Bernoulli’s principle in fluid
dynamics.

(A) Aeroplane  (B) Rocket Propulsion (C) SONAR (D) Electric Generator
95. The value in SI Unit for Carat is .
(A) 200 mg (B) 2 mg (C) 2000 mg (D) 20 mg
Sp::lce For Rough Work
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90. 20 &.c0¢/nodd Fenw WO Fd, 6 FForORYY, 60 $.c00¢. /rotd Fent Bro1T 0HTT,
OT0 INSEFIL SNTHII.
(A) 1.58 Qoe./32 (B) 1.85 awe./%? (C) 2.85 ewe./82 (D) 1.00 L0e¢./82
91. FINIYNFY, PP 2,0 &50INTOTNS 7
(A) FOTOT Feond 13gned o (B) &&n36 avodond
(C) oo JeT eSS, 3TONODF (D) 300 BROIFES 103 1o3#
92, QTR DTN, T BT SWINPR, T, eTToN 23028’ A 0 FoIT RoTBr 39, vl BedATT
(A) W) 38 Tone 2t DT, TOB(25083°F) DTBIY ﬁodiﬁmmgd.
(B) 20 S563ne widd 300, ﬁodg:dwnd.
(C) L&D DYDY cTORND TR BseINY TR T, F T FTTO.
(D) TG ST 280, DT, o3 (230e°F) Y k‘odiﬁmmgd._
93. FINSJYNTRY TeoDA.
a.  o0.0F. XF 1. IRV 03 B DA
b. % .o Weert 2. woF EF 53
C. A.D. COROT* 3. sneor W3PS e;)zgi? hinbloeihi 4
d. oFf. BogdeNT' 4. Fowntt(wevars WOmNED) ©08 L0BNd
a2 b ¢ d
(A)1 2 3 4
)1 4 2 3
2 4 3 1
M2 1 4 3
94. TS dmoor 39 wrd I PP 3B Soed FOR OB SOFFOITI, TION.
(A) OFws (B) voBer Zdnens (Fpwos)
(C) RAneorf (SONAR) (D) «d8p* wStewo?
9s. 0, 0L (235, 3000 Kewd;08) Moh «&.@. (S) PREBYF PO lalad
(A) 200 oo (B) 2 2ongo (C) 2000 &ompo (D) 20 doneo
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96.

The List I represent the name of the rivers and the List II represent the names of the
tributaries. Identify the correct answer using the codes given below.

List-1 List-11
(Rivers) (Tributaries)
I.  Yamuna . Banas
I1. Ghaghara 2. Kali Gandak
II. Gandak 3. Rihand
IV. Chambal 4. Betwa
V. Sone 5. Kali
Codes :
I II IOI IV V
(A)S 4 1 2 3
B4 2 5 3
€)3 1 2 § 4
M4 5 2 1
97. Identify the river which is not the Southetnitributary of the river Ganga.
(A) Ghaghara (B) Damodar (C) Ken (D) Sone
98. A Bullet of mass 0.1 kg. is fired with speed of 100 m/s. The mass of gun is 50 kg. The
velocity of recoil is
(A) 0.5m/s . (B) 0.2 m/s (C) 0.05 m/s (D) 0.1 nvs
99. Weight of body is maximum at
(A) Equator of earth (B) Moon (C) Centre of earth (D) Poles of earth
100. A metallic block of density 5g/cm3 and having dimensions 5 ¢cm x 5 cm x 3 ¢m is weighed
in water. It’s apparent weight will be
(A) 5x4x4x4g (B) 5x5x5x5x5g (C)4x5x5x5g (D) 4xd4x4x4g
Space For Rough Work
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96. 3 1 TY, 3N TILRLS =) wed, 11 09, evmzony BROONYE. KOCIRTOTDY, FINT
oge3neor Bok) Wna.
@1 Te-11
(I0nD) (VTIONEDL)
[ o0 1. wgoxe
II. FPTD 2. B9 no@s
III. no@s* 3. omoon*
IV. Bowe* 4. o=,
V. e 5. %%
TN :
I II MIVYV
(A)S 4 1 2 3
4 2 5 3 1
33 1 2 3 &
M4 § 2 1 3
97. FINIYNYY, RO HOMOSHOD T T LTI B ?
(A) TP (B) moddneno’ €) &= (D) Zrea®
98. 0.1 8.rpo. 8T woddts eI 100 a)aef:-ﬁﬁaa‘ St TOIRNIZH. woreds 8eF 50 3.m0.
i gD Fenay Shlag
(A) 0.5 Q06./%. (B) 02 o¢./3. (C) 0.05 &e./3. (D) 0.1 Qoe./z.
99, Tz 30T 89, NOFFNTZT.
(A) e Zaepeg  (B) 80T (C) @ooodBeory (D) RRQLOD TASH
100. Sg/zlo.c06> HoogE 083 5 Fo.ade. x 5 Fo.awe. x 5 F0.20¢. SOINTOATR) BRoOWR s
RE ) V0T, BeNTY, BTT IRTT b MR |3,
(A) 5x4x4x4g (B) 5x5x5x5x5¢g
(C)4x5x5x%x5g (D)4x4x4x4g
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L. This question booklet is issued to you by the room invigilator after the 2° bell,

2. Check whether the Register Number has been entered and shaded in the respective circles on the OMR answer sheet.

3. The version code of this question booklet should be entered on the OMR answer sheet and the respective circles should
also be shaded completely.

4. The Version Code and Serial Number of this question booklet should also be entered on the Nominal Roll without any
mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the.space provided.

DONTs:

. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED / SPOILED.,

2. Til the 3 Bell rings;
¢ Do not remove the seal present on the right hand side of this Juestion booklet.
® Do not; look inside this question booklet or start a erh&g on the OMR answer sheet,

IMPORTANTANSTIRUCTIONS TOCANDIDATES

1. In case of usage of signs and symbols in the questions regular textbook connotation should be considersd unless stated
otherwise.

2. This question booklet contains 100 questi@d' each question will have one statement and four different options;
responses & out of which you have tochgose'onte correct answer.

3. After the 3™ Bell rings, remove thé pa al of this question booklet and check that this booklet does not have any
unprinted or torn or missing pages &ws etc., if so, get it replaced by a complete test booklet. Read each item and start
answering on the OMR ans ,S@

4. Completely darken / shadé tt ant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet,

BOCINT 8,3 3 BTN WRONG METHODS
CORRECT METHOD
®OD® OO0 OO0 @ ®©

5. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

6. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

7. Once the last Bell rings, stop writing on the OMR answer sheet and hand over the OMR answer sheet to the room
invigilator as it is. _

8. Afier separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

9. All questions carry equal marks. Every question for which wrong answer has been given by the candidate, /4% (0.25) of the
marks assigned for that question will be deducted. If a question is not answered by the candidate there will be no marks
deducted. o o

10. Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any Kind is prohibited inside the

Examination venue,

NOTE : In case of any diserepancy between English and Kannada Versions, the English version will be taken as final.
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